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+1 &850, 000m3ATH ;
BEIR K+ T (TCT) [R5 TH U i1 X ] = 1 3,497,129 | (TICT) 910 m3
A5k 1 X
BEIR K+ T (TCT) [R5 TH U i1 X ] = 1 113,397 | B L (ICT) 30 m3
A5k 1 X
BT T (ICT) = 1 2,588, 120 | IEmFE (B)1356) (ICT) 300 m2
VY = W R OWSE = CREE L
BRI (B 1356) (ICT) 2, 560 m2
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VIR
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e 1 =
HIL -20)
IR = 1 14, 431, 950
fliAE T = 1 2,694,350 |fE/Ewyb 350 m2
Ay b 250m2LL_F500m2 K4 ;
ANTHEZ 2,250 m2
it E
EEWRAT T = 1 11,737,600 |2/7)-MKAF 1, 400 m2
W@t A/ b JE10cm
HEKHEEY T = 1 13, 867, 879
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BUGFT B AR T
(4%)

B FTAS P9~1500 X500 X 600 18-8-25 (B 4F)

BUGFT B AR T
(4%)
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BUGFT B AR T
(4%)
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vt 2 N~E500 X500 T-25 W EH & vMNE

V=t 2 N-F600 X600 T-25 W H & VA

V=t 2 NS00 X 700/ T-2 W H & vME

vty 2 NS00 X 700/ T-25 W EH & vMNE

vt 2 N~F800 X800 T-25 W H & WA
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U HEKT X

198, 468

AKEHEKE (R R
W & £100mm RC-40

111

>

7" VR AMKES T =

91, 660

7 VR AN K

E80cm 1 I80cm ;

Pk T X

4, 556, 529

INBEBEK
PTE 300mm PN 300mm ;
fEdEK

CEUEVZARIN
JE5cm 18-8-25 (20) (&
M .

203

18

AIE 300mm P& 300mm ;

260
) 3y - MR REIE

m2

552 7)) =

1,429, 662

CEUEVZARIN
JE5cm 18-8-25 (20) (&
M .
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BT 2 609, 209
e+ T 2 388,985 | ARV 1 2V
+4)
HEL 1 2V
+4)
A5k 1 2N
TR X 220,224 | M1 TR S B 80 m
¢ 75
PR RS AT ey — MGR 80 m
& 150mm 213 ;
EEEET = 5,533, 863
TA7 7 M2 T = 4,023,458 | gk (BiE - BEE) 380 m2
RIFE TR M-30 LY /E 100mm ;
g (I - BIF ) 1, 850 m2
PRI EET A2y (20) 4f2EE 50mm 3. Omtd ;
TAT 7 Ml 1 [ T S 1 X =X 194, 432 | )8 (B8 - BEH) 98 m2
PRI EET A2y (20) 4f2EE 50mm 3. Omtd ;
TAT 7 Ml 1 [ T S 1 X X 249,633 | T (HE - BRIE ) 90 m2
FEIT9Y%77 RC-30 AV /E 100mm ;
g (I - BIF ) 90 m2
PRI EET A2y (20) 4f2EE 50mm 3. Omtd ;
Fn AT =, 780,500 | #EJF (HiH - HE ) 500 m2
FAEERLET AT, (13) FHEHEEE 40mm 3. Om
it
TAT 7 MRS T = 285,840 |~ vFus” 3 t
HABRLET A (13)
W T = 3,990, 141
B LA T 2 3,990, 141 | K67 wy), B LA 117 &
PR RN —
A0 - AL (ST ARG 1R 225 m
ftE L 5m kR
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H AT B MR T = 1 180, 956
BART 2y 1 180, 956 | BEAHT 19 N
120X120 X900 & & FLpEiE L
s ALER T = 1 2,108, 800
IEALBREE T 2 1 1,566, 700 |KrEkiEEE 50 =]
EErEEE 50 HRE ]
TEHEE T (— %) 100 =]
TEEE T (FFER) 100 FRFfE
TN [ bR ] 50 iR
FEHER HEXKEL 5L ;
VANZAR VAV -t A e A B L 7 50 IREfH
PAW Y
N yJy (Ju-70) 50 B
[LIF50. 28m3 (CFA%O0. 2m3) ;
wM-n=3" (b7 hvan™ p) iEis 50 IREfH
[LIf&0. 5m3 ;
+05 1, 000 e
62X 48cm L FHkHELE ;
LA 100 4%
134 (30kg) ;
IEALBREE T 2 1 542,100 |HER1EER 30 =]
EErEEE 30 HRE ]
TEEE T (— %) 40 HRE ]
TN [ bR ] 20 FF ]
FHE B PEXEL 5L ;
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e LT IS 1 464,303 | 3v7)-MHEXE YU L 17 m3
ERApIEEY) FAE T ;
ERZE R LD 1 2V
TAT 7V MEHEERR 15emPA T
EhAE AR AR 710 m2
TA77 VMR BEERE e m
TR AL T = 1 359, 547 | kiEHk 17 m3
/) -hik Bk
GEaL-tilld 36 m3
TAT 7V
By 17 m3
/) -hik Bk
By 36 m3
TAT 7V
I 2 1 2, 708, 560
THEHER T = 1 588,900 | FAbF 1, 000 m2
U BLFREE 1) A150-0 BUE 200mm ;
K T = 1 535, 780 | & R BEAK 140 m
TE50 cm & I50cm ;
EEWRAT T = 1 1, 119, 500 | {5a% FEMMIK S 500 m2
EFB (54) 500m2LL L 1000m2ATE IEHEE R R
FEOMIERE ;
B EHT =X 1 464, 380 | A2 IEREEE B 1 =
[ERCANE =y 2 1 77, 322, 624
B X 1 11, 889, 196
Im iR Ex % = 1 3,831, 196
e 2 X 1 1,716,750 | ARHREEHL)y 2 1 X
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VAL E 2 (ICT) 1 F2V

TER R AT e A 1 =
BGRESGESE (5 L) = 1 802, 000
B (FEEHL) = 1 8, 058, 000
Wi TR 2 1 89, 211, 820
Bl g 2 1 28, 030, 000
T =5l = 1 117, 241, 820
— R A 2 1 19, 678, 180
T =AM = 1 136, 920, 000
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